| ‘ fa ‘ 3 ‘ 4 6 ! 8
‘ ‘ ‘ Mass(hg)
DWG NO . F7U910804- /7 Third Amg\e PFOJGCMOH Model No. Max Appli. Motor Terminal Symbol %Z?Mng [ no1se Fi11er
Dimensions in mm L1:A 1o / Output Current (A) | Heavy Duty (kW) INPUT QUTPUT(MOTOR) Internal EMC Filter(C3)
A to 7 CIPR-CRTOCT 404 ]I ACICICIC ] 45 22 RALES/L2 T/L3 | UJTE V/T2 W/T3 ? |2

Digital 4 Mounting Holes
Operator for M6 Screws
| 4 192 /(4) -
- %‘*’*4WL7I _ L = EArj
| | | e
| |
‘ [ Y e ‘
| OSDD° | “ﬂ
| DoO | F %
|70 | L] i
| N |
?ﬁﬂ ‘ ) ‘ o
o en ‘ ] ‘ I
| | I Efe
. Il &
it
| |
Q| COUUUOOD | [
: = = = == < 7 1 / Ny
el 4 192 (14) J 2.3
200 (1.5) 246
Scale 1:4
@g DRWN . J McAULAY TITLE CRT00 P20 TYPE DRWN.DATE| OT7/ Jan /21 REV.
YASKAWA oo DWG . NO. 1<
SCALE APRV. J.COLREAVEY D‘MENS‘ON D‘AGRAM EZU@‘OE%OAr 2
2 3 | 4 | 6 | ] | [STZE] A3




| | ’ 3 4 5 6 ] 3

DWG. MOt 71910804-2/2

38 .6
EMC Filter
Switeh
(EMC Only)
Main Terminals
Base Point of with M5 Screws:Slof(-)
Terminals Board
ST
| Main Terminals
with M4 Screws:Slot(-) == \ ;;%§%§ -
[
J == i o=
d B ey e ] =
=] | ==
_ == | om om Ao N 2 |z NNNaEann =z g=
= R s T - (B B2 A7 VT2 WiTd o = ;%g% m:: ﬁ @m - = e ; § %
e s SHOLEE —|SE 7|2 |2
— - ™| — JOUDEUL o) - -
Qi)‘ I b=t b @ g Q
< %@ ol 0"
ifw A %E::é e} | |
o Grounding Terminals
24.9 with M6 Screws
P15x4z60 Phillips(+)/slot(-) combo
84 .5 23
14 0.2
1374 J ‘P\SXZiSO
Detail (without Front cover)
SCALE 2:5
@g DRWN . J McAULAY TITLE P20 TYPE DRUN.DATE| 07/ Jan/ 2| REV.
YASKAWA CHKD . A MARDEN DWG . NO. 2|<O>
SCALE --:-- APRV. | J.COLREAVEY DIMENS TON DIAGRAM EZU@‘OE%OA fa
> 3 A 5 | 7 [SIZE] A3




	Sheet 1
	Views
	new_view_5
	下_7
	右_8

	Zones
	A1
	A2
	A3
	A4
	A5
	A6
	A7
	A8
	B1
	B2
	B3
	B4
	B5
	B6
	B7
	B8
	C1
	C2
	C3
	C4
	C5
	C6
	C7
	C8
	D1
	D2
	D3
	D4
	D5
	D6
	D7
	D8
	E1
	E2
	E3
	E4
	E5
	E6
	E7
	E8
	F1
	F2
	F3
	F4
	F5
	F6
	F7
	F8


	Sheet 2
	Views
	new_view_9
	下_19

	Zones
	A1
	A2
	A3
	A4
	A5
	A6
	A7
	A8
	B1
	B2
	B3
	B4
	B5
	B6
	B7
	B8
	C1
	C2
	C3
	C4
	C5
	C6
	C7
	C8
	D1
	D2
	D3
	D4
	D5
	D6
	D7
	D8
	E1
	E2
	E3
	E4
	E5
	E6
	E7
	E8
	F1
	F2
	F3
	F4
	F5
	F6
	F7
	F8



